Chemistry I




Name: _________________________

Average Atomic Mass Practice
For the following problems, find the average atomic mass. For a chance at partial credit, show your work.

1. Find the average atomic mass for Lithium if 7.5% of lithium atoms are Li-6 and 92.5% are Li-7.

2. Find the average atomic mass for Boron if 19.9% of Boron atoms are B-10 and 80.1% are B-11.

3. Find the average atomic mass for Chlorine if 75.78% of Chlorine atoms are Cl-35 and 24.22% are Cl-37.

4. Find the average atomic mass for Magnesium if 78.99% of Magnesium atoms are Mg-24, 10.00% are Mg-25, and 11.01% are Mg-26.

5. There are 2 isotopes of copper that occur naturally; Cu-63 and Cu-65.If the average atomic mass is 63.5 what is the percent natural abundance for each isotope? 

6. There are 2 isotopes of gallium that occur naturally; Ga-69 and Ga-71. What is the percent natural abundance for each isotope? 

7. Iridium is composed essentially of two isotopes: Ir-191 and Ir-193. The average mass of an iridium atom is 192.217 uamu. Determine the natural abundance of each of these isotopes in a naturally occurring sample. 
